ECE 346: Digital Signal Processing Spring 2021
Soo Min Kwon Week of January 25, 2020

Recitation #1: Review of Mathematical Concepts

Objective & Outline

The objective of this week’s recitation section is to review some basic mathematical concepts that
we will use over and over again throughout this course. Mastering (or at least getting good at)
these topics will help you tremendously in the long run. The following is the outline of this solution
guide:

1. Problems 1 — 4: recitation problems

2. Problem 5: self-assessment problem

Problem 1 (Operations with Complex Exponentials). Perform the following operations (if nec-
essary) and simplify each of the signals into sinusoidal form using Euler’s formulas (e.g. e/? =

cos(0) + jsin(0)).
(a) z1(t) = 3e3¢ - 47Tt
(b) z2(t) = 355

11— —jmt
(c) z3(t) = =5

Solution:
(a) We want to first multiply the two complex exponentials and then express them in terms
of sinusoids using Euler’s formula:
z1(t) = 3675 4l T (1)
= 121G+ (2)
= 120715t (3)
= 126/ T3 (4)
T T
=12 —t 125sin [ —t1 | . 5
cos<12>+ jsm<12> (5)



(b) We use the same process for this problem but with division:

To(t) = fj: (6)
_ %eﬂ%t (7)
= %COS (—%t) + %j sin (—gt) (8>
= %cos (gt) = %j sin (gt) (9)

Note that to get to the final answer, we used facts regarding even and odd functions.

(c) This problem is a little trickier in the sense that you shouldn’t try to simplify this by
dividing. Instead, we can factor out a common value and then use Euler’s formulas.

1— e Jnt
z3(t) = 14 o irt (10)

J0 _ —gmt
ef0 4 e—Jmt

_ R e e (12)
e J2t [el2t 4 eIt
25 sin(5t

_ 4 (772 ) (13)
2cos(5t)
, s

= jtan (51&) . (14)

We can actually simplify this function further by defining what values z3(t) takes at
different values of ¢, but this answer is sufficient.

Problem 2 (Complex Signals). For each of the complex signals, calculate the magnitude and phase
of the functions analytically.

(a) z1(t) = el (zT3)

(b) ao(t) = 92 + 2773

Solution:

(a) We can separate the signal into its real and imaginary parts and do the following calcu-



lations:

Re{z1(t)} = cos (; + 3) (15)
Sl = s (; + 3> (16)
lz1(8)] =1 (17)
Az1(t) = tan™! (tan <; - 3>> (18)

— 2 +3 (19)

(b) Same procedure except our signal becomes a little more complicated:

Re{za(t)} = cos(t/2) + 2cos(t/3) (20)

Jm{zy(t)} = —sin(t/2) — 2sin(t/3) (21)

|wa()] = ((cos(t/2) + 2cos(t/3))? + (—sin(t/2) — 2sin(t/3))%) > (22)
1 ( —sin(t/2) — 2sin(t/3)

L2 ()= ten s < cos(t/2) + 2cos(t/3) ) (23)

Problem 3 (Sifting Property of Impulses). Recall that the “sifting property of impulses” says that
integrating a signal multiplied by an impuse returns the value of the function at the location of the
impulse:

b
/ x(t)o(t — c)dt = z(c). (24)
For each of the signals, compute the integral.
(a) [0 t26(2t—4)
(b) [ cos(t)o(4t — )

(c) [P 13t +2)

Solution:

By using equation (24) we can easily evaluate these integrals.

(a)
5(2t — 4) = %5@ _9) (25)
/ Z £25(2t — 4) = %(2)2 (26)
—2. 27)



5(4t — ) = ié(t -9 (28)

/OO cos(t)d(4t — ) = %cos (%) (29)
\/é

=3 (30)

(c) This one is a little trickier. Note that 6(¢ + 2) has a time at ¢ = —2. Since t = —2 is out
of our integral bounds (1 < ¢t < 5),

/5 35t +2)=0 (31)
1

Problem 4 (Energy of Signals). Recall that the energy of a DT signal, say x[n], is

o
> lan]. (32)
—00

Compute the energy of each signal.

(a) 1[n] = (3
(b) w2[n] = (3

(c) x3ln] = (2)"" un]

Solution:

The main purpose of this problem is for you to use the geometric series formula. This formula
will be used time and time again so you should remember it!

(a)

n=0
1
T 1-1/4 (36)
4
—=. (37)




n=0
::0 G ' (40)
1 —11/9 (4D
- (42)
(c)

00 9\ 72 2
E3 = nzzoo <3> uln) (43)
SO0
(56

n=0

- @)4 1 —14/9 (46)
_ (g) ? (a7)

Problem 5 (Self-assessment). Try to solve each problem by yourself first, and then discuss with
your group.

1. Complex Exponentials. Simplify the following signal into a sinusoid:
z[n] = (3¢/%)" + (3e77%)" (48)

2. Complex Signals. Compute the magnitude and phase of the function
z[n] = 275" (49)

3. L’Hopital’s Rule. Evaluate the following limits:

(a) lim x3 — 72% + 10z
=2 x24+1—6
. sin(mx)
(b) a%lamQ z2—4



Solution:
1.

zn] = (3e)" + (399"
_ 3nej9n + 3ne—j0n
_ 3n[ej9n + e—j@n]
=2-3"cos(fn)

o2t =722 4102 . 3z2—14z+10
lim = lim
252 124+x—06 T2 2¢ + 1

6

5

i " cos(mx)
z—2 2x

lim sin(mx)

r—2 [L‘2 —4

m
4




